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k|fSsyg 

/fli6«o k/LIff af]8{n] :t/Ls[t k/LIff ;~rfng ug]{ p2]Zon] xfn sIff * df  lj1fg tyf k|ljlw, ul0ft / cª\u|]hL ljifodf 

k/LIf0f k|f?k ljsf; u/]sf] 5  . of] xft]k':tsn] k|Zg lgdf{0fstf{ / lzIfsx¿nfO{ /fd|f]  k/LIf0f j:t'x¿ ljsf; ug]{ / 

cfwf/e"t txsf] k/LIff -Basic Level Examination_ nfO{ :yfgLo :t/df qmdzM :t/Ls[t, yk ljZj;gLo, j}w / 

cGt/:yfgLo :t/df t'ngfTds agfpg] 9fFrf pknAw u/fpF5 .  

 

k/LIf0fsf] :t/Ls/0fdf  k|Zg ljsf; (Item development) klxnf] r/0f xf], h'g lzIff, lj1fg tyf k|ljlw dGqfno -

MoEST ) åf/f cg'df]lbt tyf /fli6«o k/LIff af]8{ (NEB) n]] lgdf{0f u/]sf] sIff * sf] :t/Ls[t k/LIf0f k|f?kdf cfwfl/t 

5 .  pSt k/LIf0f k|f?k lgdf{0fdf cfwf/e't txsf]  kf7\oqmd / la:t[tLs/0f tflnsf -CDC, 2021_ nfO{ ;d]t cfwf/ 

dfg]/ tof/ ul/Psf] 5 . kf7\oqmddf pNn]lvt ljlzi6«Ls/0f tflnsf cg';f/ k|Zgx¿ (Items) ljsl;t ul/Psf 5g . 

;fy} k|Zgx¿ (Items) sf 9fFrf / ;+1fgfTds :t/ kf7\oqmdåf/f lglb{i6 ul/P cg';f/ ljsf; ul/Psf 5g\ . 

 

o; xft]k':tsdf cfwf/e"t txsf lj1fg / k|ljlw ljifocGtu{tsf gd"gfk|Zgx¿ k|:t't ul/Psf 5g\ . o;df /flvPsf 

k|Zgx¿n] sIff ^–*  sf] nflu gd"gfk|Zgsf] ?kdf k|ltlglwTj ub{5g\ . oL sIffx¿sf] nflu gd"gfk|Zgsf]  lgdf{0f ug]{ 

s|ddf, ljifoj:t', k|Zg 9fFrf / ltgLx¿sf] ;+1fgfTds :t/x¿ ;d]6\g] k|of; ul/Psf] 5 . gd'gfsf] ?kdf lgdf{0f ul/Psf 

k|To]s k|Zgdf lgDg ljz]iftfx¿ ;dfj]z ul/Psf 5g\ . 

 laifoa:t' se/]h – PsfO, l;sfO pknlAw 

 k|Zgsf] p2]Zo -l;sfO pknlAwcg'¿k_ 

 k|Zg 9fFrfsf] ljj/0f 

 k|Zgn] d"Nof+ª\sg ug]{ ;+1fgfTds txsf] ljj/0f . 

 

o; xft]k':tsdf, klxnf k|Zg 9fFrfsf] ljj/0f lbOPsf] 5 / To;kl5 sIff ^–* af6 gd'gf k|Zgx¿sf] ;+1fgfTds 

:t/x¿sf] ljj/0f lbOPsf] 5 . 

 

of] xft]k':ts tof/ ug{ ljBfno If]q ljsf; of]hgf, k|fljlws ;xfotf (SSDP –TA) af6 ;xof]u k|fKt ePsf] lyof] 

. of] xft]k':ts, >L hok|sfz nfn >Ljf:tj, >L dLgf >]i7, >L lvngf/fo0f >]i7 / >L nab]j e§sf] lj1 6f]nLn] tof/ 

u/]sf] xf] . o; xft]k':tssf] ljsf;df Joj:yfksLo kIfdf ;dGjo ug'{x'g] /fli6«o k/LIff af]8{sf ;b:o–;lrj >L b'uf{k|;fb 

cof{n, k|fljlws ;+of]hg k|f=8f=u0f]z axfb'/ l;+x, tLg j6} ljifosf] ;+of]hgsf] e"ldsf pk ;lrj >L ;'jf; kGt / 

k|zf;lgs ;+of]hg zfvf clws[t >L b]j/fh /fjtn] ug'{ ePsf] xf] . of] k':tsnfO{ o; cfsf/df Nofpgsf] nflu ldlxg]t 

ug]{ lj1 6f]nLsf] s8f kl/>d tyf /rgfTds ;'emfjx¿sf] nflu o;sf ;dLIfsx¿ nufot ;j}nfO{ xflb{s wGojfb lbg 

rfxG5' . To:t} u/L o; xft]k':tssf] yk kl/dfh{g / ;'wf/sf nflu o;sf k|of]ustf{ ;a}nfO{ /rgfTds  ;'emfasf] klg 

ck]Iff /fVb5' . wGojfb Û 

 

8f= dxf>d zdf{ 

cWoIf 

/fli6«o k/LIff af]8{
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k|Zg 9fFrf (Item Format) 

 

sIff ^–* sf] lj1fg / k|ljlw ljifosf] la:t[tLs/0f tflnsfn] k|Zgx¿nfO{ ax'a}slNks k|Zg -MCQ_, w]/} 5f]6f] 

pQ/ cfpg]] k|Zg -VSAQ_, 5f]6f] pQ/ cfpg] k|Zg -SAQ_ / nfdf] pQ/ cfpg] k|Zg (LAQ_ df juL{s/0f 

u/]sf] 5 . oL 9fFrfx¿sf] nflu 5'6\ofOPsf c8\sef/ MCQ tyf w]/} 5f]6f] pQ/ cfpg] k|To]s k|Zgsf] nflu ! 

cª\s, k|To]s 5f]6f] pQ/ cfpg] k|Zgsf nflu @ cª\s tyf nfdf] pQ/ cfpg] k|Zgsf] nflu $ cª\s 5'6\ofOPsf] 

5 . csf]{ v08df ;DalGwt k|Zgsf]] ;Gbe{df k|Zg9fFrfx¿sf] ;+lIfKt ljj/0f k|:t't ul/Psf] 5 . 

 

ax'a}slNks k|Zg (MCQ) 

ax'a}slNks k|Zg (MCQ) j:t'ut k|sf/sf] k|Zg xf], h;df ljBfyL{n] lbOPsf ljsNkx¿ dWo]sf]] s'g} Ps 

lasNk rog u5{ . lj1fg tyf k|ljlw ljifodf MCQ sf] nflu $cf]6f lasNkx¿ (alternatives) k|of]u ul/g] 

5g\ / tLdWo] Pp6f d'Vo pQ/ (key answer) x'g]5 . MCQ df d'Vo pQ/ eg]sf] cª\s  pknAw u/fpg] 

;xL pQ/ xf] . MCQ df $ jf % efux¿ – l:6d'n;, :6]d / ljsNk jf alternative,  

 l8:6«ofS6/x¿ distractors / d'Vo pQ/ key answer /x]sf x'G5g\ . 

 

!_ l:6d'n; (Stimulus): ax'a}slNks k|Zgx¿ l:6d'n;;lxt jf l:6d'n;/lxt x'g ;S5g\ . k|Zg lgdf{0f ubf{ 

l:6d'n;sf] k|of]u ;Gbe{ lgdf{0fsf] nflu ul/G5 . l:6d'n; jfSo, tflnsf, /]vflrq jf tL dWo] s'g} b'O{ jf a9L 

¿kdf  k|of]uePsf x'g ;S5g\ . 

 

@_ :6]d (Stem): ax'a}slNks k|Zg(MCQ) df :6]d Ps k|d'v efu xf] . o;n] ;dfwfg ug{sf] nflu k|Zg jf 

;d:of k|:t't ub{5 . Pp6f ax'a}slNks k|Zgdf :6]d, k"0f{ k|Zg jf ck"0f{ jfSo jf vfnL 7fFpm eg]{ jf Snf]hsf] 

c+z h:t} Uofk–lkmn, cg'R5]b cflbsf] ?kdf x'g ;S5 . :6]d h'g;'s} ?kdf eP tfklg To;n] kof{Kt hfgsf/L 

pknAw u/fpg'k5{ h;n] /fd|f] tof/L u/]sf] ljBfyL{n] k|Zgdf /x]sf ljsNkx¿df uP/ ;xL hjfkm 5gf]6 ug{ 

;sf]; . k/LIf0fdf ;a} ax'a}slNks k|Zgx¿n] :6]dsf] Pp6} 9fFrfsf] x'g' kb{5 . sIff * df MCQ sf] :t/Ls[t  

k/LIf0fdf :6]dnfO{ k|Zgsf ¿kdf k|of]u ul/g]5 . (Izard, 2005) 

 

#_ ljsNkx¿ (Options/Alternatives): ljBfyL{x¿nfO{ ;Dej eP;Dd ;xL jf pQd pQ/ 5gf]6 ug{ 

MCQ df, ;fdfGotof 4 jf 5 ljsNkx¿ k|bfg ul/G5g\ . ljsNkx¿ ;dfg z}nL, a/fa/ nDafO / k"0f{ jfSodf 

n]Vg'k5{ . ljsNkx¿ dWo] Pp6f d'Vo hjfkm (key answer) / c¿ l8:6«ofS6/x¿(distractors) x'G5g\ . 

MCQ df l8:6«ofS6/x¿(distractors) sd ;Ifd ljBfyL{x¿sf] nflu ;xL pQ/ nfUg] lsl;dsf] (plausible 

and attractive) x'g'k5{, t/ w]/} ;Ifd ljBfyL{x¿nfO{ e|ldt kfg]{ lsl;dsf] x'g' x'Fb}g . l8:6«ofS6/x¿n] k|ZgnfO{ 

cwLs ;Ifd / sd ;Ifd ljBfyL{x¿ aLrsf] leGgtf 5'6\ofpg d2t ug]{ lsl;dsf x'g' kb{5 . o;/L MCQ sf 

ljsNkx¿ (Alternatives), d'Vo pQ/ (key answer) / l8:6«ofS6/x¿ (distractors) b'j} ?kdf x'G5g\ 

. 
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#=s=l8:6«ofS6/x¿ (distractors): MCQ df l8:6«ofS6/x¿ (distractors) o:tf ljsNk x'g\ h;n] sd 

;Ifd÷sd tof/ ljBfyL{x¿nfO{ ;xL pQ/sf] ¿kdf ;f]Rg / p;nfO{ cfslif{t ub{5g\ . 

 

#= v=d'Vo pQ/ (key answer)M  MCQ df ;xL pTt/sf] ?kdf /x]sf] lasNk g} d'Vo pQ/ xf] . 

 

k|Zgsf] nflu cª\sx¿ k|Zgsf] 9fFrfdf cfwfl/t 1, 2 jf 4 x'g ;S5, t/ k|To]s k|Zg d"NofÍg 9fFrfdf Ps 

tTjsf] nflu 1 cª\s k|bfg ug]{ lsl;dsf] x'g' cfjZos x'G5 . Pp6f tTjnfO{ s'g} klg cj:yfdf ! eGbf a9L 

cª\s k|bfg ul/g] 5}g . lj1fg tyf k|ljlw ljifodf cfFlzs cª\s k|bfg ul/g]] 5}g . k|ZgnfO{ cfjZos kg]{ k|To]s 

tTjsf] nflu cª\s k|bfg ubf{ x/]s tTjsf] nflu ) jf ! cª\s lbg' kg]{ 5 . 

 

sIff * df lj1fg tyf k|ljlw ljifosf] :t/Ls[t k/LIffdf :6]d / $ cf]6f ljsNkx¿ ;lxtsf MCQ k|Zg k|of]u 

ul/g]5g\ . pbfx/0fsf] ¿kdf tn MCQ sf efux¿ b]vfOPsf 5g\ . 

 

Item: tflnsfdf Pp6f tTjsf] jf/]df s]xL ;"rgf lbOPsf 5g\ . 

The table shows some information about an element. 

k/df0fljs ef/ 

Atomic 

mass 

Go"6«f]gsf] ;+Vof 

Number of 

neutrons 

Eofn]G; On]S6«f]gsf] ;+Vof 

Number of valence 

electrons 

24 12 2  

cfw'lgs k]l/of]l8s tflnsfdf tTjsf] cjl:ylt s] xf] ? What is the position of 

the element in the modern periodic table? 

A) k]l/o8 2, ;d"xIIA   Period 2, Group IIA 

B) k]l/o8 3,;d"x VIA  Period 3, Group VIA 

C) k]l/o8 2,;d"x IIIA Period 2, Group IIIA 

D) k]l/o8 3,;d"x IIA    Period 3. Group IIA 

  

w]/} 5f]6f] pQ/ k|Zg (VSAQ) 

VSAQ df, ljBfyL{x¿n] zAb, jfSof+z, jf clwstd Ps jfSodf 5f]6f]df hjfkm lbg] ck]Iff ul/G5 . VSAQ 

df 1 cª\ssf] hjfkmsf] nflu 1 tTj dfq ;dfj]z ul/Psf] x'G5 . 

 

5f]6f] pQ/ k|Zg  (SAQ) 

SAQ df ljBfyL{x¿n] zAb, jfSof+z jf jfSodf hjfkmsf]] ck]Iff ul/G5 . SAQsf] hjfkmdf2cª\ssf] nflu2 

cf]6ftTjx¿ ;dfj]z x'g'kb{5 . k|To]s tTj 1cª\ssf] nflu lglb{i6 ul/Psf] x'G5 . SAQ df, 2 efudf k|Zgx¿ 

klg x'g ;S5g – o:tf] cj:yfdf k|To]s efudf1cª\sef/sf]1cf]6f tTj dfq x'G5 . 

S 
T 

I 

M 
U 

L 
U 

S 
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RNAT
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I 
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nfdf] pQ/ k|Zg (LAQ) 

LAQ df jfSo jf cg'R5]bdf hjfkm ck]Iff ul/Psf] 5 . LAQ df klg :ki6 ¿kdf lrGg ;lsg] tTjx¿ 

x'g'kb{5 h;df k|To]s tTj 1cª\sef/sf] x'G5 . s'n 4 tTjx¿;lxt o:tf k|Zg 4 cª\ssf] agfpg' k5{ . LAQ 

df, 1 b]lv 4 efudf klg k|Zg x'g ;S5g \. s'g} klg cj:yfdf LAQ df s'n 4cª\sef/ ePsf] cj:yfdf 4 

cf]6f tTjx¿ x'g}k5{ . 

 

k|Zgx¿sf] 9fFrfnfO{ ltgLx¿sf] ;+1fgfTds :t/sf] ;fydf cfpg] v08df gd'gf k|Zgx¿ dfkm{t pbfx/0f lbOg] 

5 . 

 

k|Zgx¿sf] ;+1fgfTds :t/ (Cognitive Level of the Items) 

 

lj1fg / k|ljlw kf7\oqmd cg';f/sf] ljlzi6Ls/0f tflnsfn] ;+1fgfTds k|lqmofsf 4 cf]6f :t/x¿ pNn]v u/]sf] 

5  . h;nfO{ sIffdf lzIf0f l;sfOsf] d"Nofª\sg ug{ ;dfj]z ug'{ cfjZos x'G5 . oL ;+1fgfTds txx¿nfO{ 

1fg (K), af]w(U), k|of]u -A_ / pRr Ifdtf -HA_ df jlu{s/0f ul/Psf] 5 . HA sf k|Zgx¿df d'Vo?kn] 

An"dsf] juL{s/0fsf]
2
 ljZn]if0f (analysis), ;+Zn]if0f (synthesis), / ;[hgf (create) nfO{ ;dfj]z ul/G5 

. oL ;+1fgfTds :t/x¿ o; v08df gd'gf k|Zgx¿;Fu ;+lIfKt ¿kdf j0f{g ul/Psf 5g\ . k|Zgx¿sf] ljj/0fdf 

lgDg kIfx¿ ;dfj]z ul/Psf 5g\ ., 

 laifoa:t' se/]h – PsfO, l;sfO pknlAw 

 k|Zgsf] p2]Zo -l;sfO pknlAwcg'¿k_ 

 k|Zg 9fFrfsf] ljj/0f 

 k|Zgn] d"Nofª\sg ug]{ ;+1fgfTds txsf] ljj/0f . 

 

1fg tx (Knowledge level) 

1fg tx, An"dsf] juL{s/0fdf ;+1fgfTds 8f]d]gsf] ;a}eGbf tNnf] tx xf] . 1fg txnfO{ ;Demg] jf :d/0f ug]{ 

klg elgG5  . o;df d'Votof ljifoj:t'nfO{ 3f]s]/ l;Sg'kg]{ cfjZostf x'G5 . o; txsf] k/LIf0fsf] nflu lgld{t 

k|Zgx¿n] l;s]sf ;fdu|L ;Demg] s'/fdf hf]8 lbG5g\ . To:t}  l;sfO kl/l:yltsf] h:t} cj:yf k|bfg ub{5 tfls 

ljBfyL{x¿n] To;sf] pQ/ ;Dem]/ lbg ;sf];\\ . pbfx/0f sf] nflu, 

 kf7;fdu|Ldf /x]sf laifout zAbfjnL 

 ljlzi6 tYox¿ h:t} gfd, ldlt, ;+Vof, ;"q,  PsfOx¿, ;ª\s]tx¿, efux¿ cflbsf] klxrfg 

 ;xhtfsf] 1fg tyf j}1flgs dfGotfsf] ;fy} cGo dfGotfx¿ h:t} rf/ cf]6f lbzf -EWNS_ jf 

Úljefhg k|ltls|ofÚ h:tf ljz]if cy{ ePsf zAbx¿sf] 1fg 

 k|j[lt / 36gfx¿sf] qmd, s'g} s'/f s;/L x'G5g\ jf ltgLx¿ Pp6f ;dofjlwdf s;/L ePsf lyP eGg] 

s'/fsf] 1fg h:t} hLjg rj|m 

 juL{s/0f / ju{x¿ h:t} hLjlj1fgdf juL{s/0f k|0ffnLsf] 1fg 
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 dfkb08sf] 1fg h;sf] dfWodaf6 j}1flgs lgod, ljrf/, Jojxf/, cflbnfO{ k'li6 ul/G5 . of] k|foM 

Ús;/LÚ ;Fu ;DalGwt x'G5 . 

 cg';Gwfgsf] ljlzi6 If]qdf k4ltsf] 1fg -nfu" ug{ jf k|of]u ug{ nfos 5 jf 5}g_ h:t} hLjfZdsf] 

cfo' lgwf{/0f 

 l;4fGt jf lgodn] s] eG5 jf l;4fGt s] xf] eg]/ ;Demg -nfu" ug]{ s'/fdf hf]8 lbFOFb}g_] (Hedges, 

1966; Harper and Harper, 1990) 

 

1fg cfwf/e"t ;+1fgfTds tx xf] / o;n]] ljlzi6, laz]if c+zsf] hfgsf/LnfO{ a'emfp5 . 1fg txnfO{ ;/n 

dfWodaf6 d"NofÍg ug{ ;lsG5, pbfx/0fsf nflu, ax'a}slNks jf 5f]6f]–pQ/ cfpg] k|Zgx¿ h;af6 l;s]sf 

s'/fx¿ ;Demg] jf k|fKt hfgsf/Lx¿sf] klxrfgsf] kl/If0f ug{ ;lsG5 . To:tf k|Zgx¿ s], slxn] / sxfF sf] 

pQ/;Fu ;DalGwt x'G5g\ . o:tf k|Zgx¿df kl/efiff lbg (define),n]Vg (write), pNn]v ug{ (mention)  

cflb ls|ofkb\x¿sf] k|of]u ul/Psf] x'G5 . 

 

 
2
An'dsf] kl/dflh{t juL{s/0fdf ;+1fgfTds txsf gfdx¿ remembering, understanding, applying, 

analyzing, evaluating / creatinglbOPsf] 5 . 

http://technologyforlearners.com/applying-blooms-taxonomy-to-the-

classroom/blooms/"df x]g'{xf];\ . 
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gd'gf k|Zg / ltgsf ljj/0f (Model items and their description) 

sIff6–8 sf] lj1fg / k|ljlw ljifosf] nflu gd'gf k|Zgsf] ljsf; / ltgsf ljj/0f ljlzi6Ls/0f tflnsfcg';f/ 

ljleGg 9fFrfx¿ / ;+1fgfTds txx¿ ;d]6g] u/L lgDglnlvt k|Zg Dofl6«S;df k|:t't ul/Psf] 5 . 

xft]k':tssf gd'gf k|Zgx¿n] cf]u6]sf] If]q 

SN ljifo If]q (Area/Unit) K U A HA 

1 j}1flgs l;sfO (Scientific learning) SAQ MCQ VSAQ  

2 ;"rgf tyf ;~rf/ k|ljlw (Information and communication)  VSAQ  LAQ 

3 
hLjx¿ / ltgLx¿sf] agf]6 (Living beings and their 

structure) 
   VSAQ  

4 h}ljs ljljwtf / jftfj/0f (Biodiversity and Environment) MCQ   LAQ  

5 hLjg k|lj|mof (Life process) VSAQ  SAQ   

6 an / rfn (Force and motion)  LAQ SAQ  

7 b}lgs hLjgdf zlSt (Energy in daily life)    MCQ 

8 ljB't\ / r'Das (Electricity and magnetism)   MCQ  

9 k[YjL / cGtl/If (The earth and space) SAQ   LAQ 

10 kbfy{ (Matter)  VSAQ  VSAQ LAQ 

11 b}lgs k|of]usf kbfy{x¿ (Materials in daily use) LAQ   SAQ 

              Total items 5 5 5 6 

 

Notes: 

1. MCQ – Multiple Choice Question, VSAQ– Very Short Answer Question, SAQ– Short Answer 

Question, LAQ– Long Answer Question 

2. K – Knowledge, U – Understanding, A–Application, HA – Higher Ability 

 

Item #1 

Coverage of item:  Grade 7, Knowledge Level, MCQ, 1 mark 

l;sfO pknlAw (Learning Objective): 4.1 Jfftfj/0fsf] kl/ro lbg / jftfj/0fd}qL Jojxf/ cjnDag ug{ (Give 

introduction, state importance and classify natural resources.) 

Unit 4: h}ljs ljljwtf / jftfj/0f (Biodiversity and Environment) 

Objective of item (in line with learning outcome):  k|fs[lts ;|f]tsf] kl/ro lbg, dxTj atfpg / 

juL{s/0f ug{ (Classify natural resources.) 

Item: tnsf dWo] s'g cgljs/0fLo k|fs[lts ;|f]t xf] <Which of the following is a non-

renewable natural resource? 

A) jghª\un   Forest 
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B) kfgL  Water  

C) k|fs[lts Uof; Natural gas  

D) xfjf              Air   

Key answer 

C) k|fs[lts Uof; Natural gas  

 

cfO6dsf] ljj/0f ( (Description of the item)) 

9fFrf (Format): 4 ljsNkx¿ dWo] MCQ h;dWo] 1 tTj dfkg ug{] d'Vo pQ/ xf] .  

;+1fgfTds :t/ (Cognitive level): of] cfO6d 1fg tx;Fu ;DalGwt 5 lsgls o;n] ljBfy{Lx¿nfO{ 

gjLs/0fLo / cgjLs/0fLo k|fs[lts ;|f]tx¿sf] ju{ klxrfg ug{ ;S5g\ ls ;Sb}gg\ eg]/ hfFr ub{5 . o; 

cfO6ddf, ljBfy{Lx¿n] jg, kfgL / xfjfnfO{ gjLs/0fLo k|fs[lts ;|f]tsf] ¿kdf / k|fs[lts Uof;nfO{ 

cgjLs/0fLo k|fs[lts ;|f]tsf] ¿kdf kf7\ok':ts jf cGo kf7\o ;fdu|Lx¿df j0f{g ul/Psf] / pbfx/0fsf ¿kdf 

;Demg cfjZos 5 .  

 

Item #2 

Coverage of item:  Grade 8, Knowledge Level, VSAQ, 1 mark 

l;sfO pknlAw (Learning Objective): 5.3 Describe sexual and asexual reproduction 

occurred in animals and plants 

Unit 5: Life process 

Objective of item (in line with learning outcome): To introduce a step of sexual 

reproduction (pollination) in plants. 

Item: k/fu;]rg ls|ofsf] kl/efiff lbg'xf];\ . Define pollination.     (1 

mark) 

Marking scheme 

Pollination is a process of transformation of pollen grains from anther to stigma of a 

flower/ flowers.           

Or 

The process by which the pollen grains from one flower's anther reach the stigma of 

the same flower or the stigma of another flower is called pollination.   

 1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): VSAQ df ;xL hjfkmsf] ¿kdf 1 tTj 5 / 1 cª\ssf] 5 .  
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;+1fgfTds tx (Cognitive level): cfO6d 1fg txsf] xf] lsgeg] ljBfy{L{x¿n] s]jn k/fus0fsf] kl/efiff 

;Demg' k5{, h'g pgLx¿n] kf7\ok':ts jf cGo kf7\oqmd ;fdu|Lx¿af6 s07 u5{G.\ . 

  

Item #3 

Coverage of item:  Grade 6, Knowledge Level, SAQ, 2 marks 

l;sfO pknlAw (Learning Objective): 1.1 Give introduction to the process of scientific 

learning and follow the process. 

Unit 1: Scientific learning 

Objective of item(in line with learning outcome): Mention process skills for 

learning science. 

Item:lj1fg l;sfOsf nflu cfjZos s'g} b'O{cf]6f k|s[ofut ;Lkx¿ n]Vg'xf];\  .Write any two process 

skills for learning science.         (2 

marks) 

Marking scheme 

1 mark for each correct response, maximum 2 marks 

Measuring, communicating, comparing, recording, classifying, predicting, 

concluding, drawing or any other valid response. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): SAQ df ;xL k|ltlqmofsf] ¿kdf 2 tTjx¿ 5g\ / 2 cª\s 5G.\ .  

;+1fgfTds tx (Cognitive level): o; k|lqmofdf, ljBfy{Lx¿n] kf7\ok':ts jf cGo kf7\o ;fdu|Lx¿df 

;"rLa4 ul/Psf ;Lkx¿ / l;4fGtx¿ s] x'Gf eg]/ ;Demfpg cfjZos 5 . 

Item #4 

Coverage of item:  Grade 7, Knowledge Level, SAQ, 2 marks 

l;sfO pknlAw (Learning Objective): 11.3 to study general comparative study of 

planets on the basis of the description of size, distance, day and year. 

Unit 1: Scientific learning 

Objective of the item (in line with learning outcome):To compare planets on the 

basis of their size. 

Item: ;f}o{d08nsf] ;j}eGbf 7"nf] / ;j}eGbf ;fgf] u|xsf gfd n]Vg'xf];\ . Write the names of the 

largest and the smallest planets of the solar system.                

 (2 marks) 
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Marking scheme: 

 Smallest planet of solar system – Mercury   1 mark 

 Largest planet of solar system – Jupiter   1 mark 

cfO6dsf] ljj/0f (Description of the item): 

9fFrf (Format): @ c8\ssf]  @ tTj ePsf] SAQ xf] .  

;+1fgfTds tx (Cognitive level): gfd, ldlt, ;+Vof, ;"q, efux¿, PsfOx¿, k|tLsx¿, cflb klxrfg 

h:tf ljlzi6 tYox¿ . o; j:t'df ;a}eGbf 7"nf] / ;a}eGbf ;fgf] u|xsf] gfd ;f]lwPsf] x'gfn], ljBfy{L{x¿nfO{ 

;lDemg cfjZos 5 . To;}n], of] Ps 1fg txsf] cfO6d xf] . 

Coverage of item:  Grade 6, Knowledge Level, LAQ, 4 marks 

l;sfO pknlAw (Learning Objective): : 10.2  To identify and differentiate metal and 

non-metal based on their physical properties. 

Unit 10: Materials used in daily life 

Objective of item(in line with learning outcome): List down physical properties 

of metal. 

Item: wft'sf s'g} rf/cf]6f ef}lts u'0fx¿ n]Vg'xf];\ . Write any four physical properties of 

metal.           (4 marks) 

Marking Scheme:  

Maximum 4 marks, 1 mark for each of the correct physical properties 

 Good conductor of heat 

 Good conductor of electricity 

 It has lustre 

 Generally, these are in solid state /and hard in nature 

 Produces tinkling sound 

 It is malleable 

 It is ductile. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): oxfF ljBfy{Ln] k"/f c8\s k|fKt ug{ rf/ tTj / k|ltlqmofx¿ n]Vg'k5{ . To;}n], of] LAQ 

cfO6d xf] .  

;+1fgfTds tx (Cognitive level): 1fg tx lsgeg] oxfF ljBfy{Ln] kf7\ok':ts jf cGo kf7\oqmd ;fdu|Laf6 

s07 u/]sf] wft'sf u'0fx¿ dfq ;DemG5G.\ . 
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af]w tx (Understanding level) 

 

af]w txsf] :t/df ljBfyL{n] lglZrt tYox¿ hfGg], ltlgx¿nfO{ cfˆgf] lbdfudf ;Ful7t ug]{ / a'emfOnfO{ 

k|dfl0ft ug{ 1fgnfO{ kl/rfng ug]{ ck]Iff ul/G5 . af]w txdf ljBfyL{x¿nfO{ cg'jfb, JofVof, jf ;"rgfx¿sf] 

;+lIfKtLs/0f ug{  cfjZos kb{5 . pbfx/0f sf] nflu, 

 lglZrt zAbfjnL, kl/efiff, k|fljlws zAbfjnL / ;DaGwnfO cfˆg} zAbdf k'gn]{vg ug]{ 

 kf7\ok':tsaf6 l;s]sf s'/fx¿ afx]ssf pbfx/0f lbg] 

 /]vflrq, tl:j/, tflnsf jf u|fkm, k|tLs -zAbnfO{ k|tLs jf k|tLsnfO{ zAb_ df /x]sf ;DaGwsf] JofVof 

ug]{, 

 ;lDdlnt ljrf/x¿ klxrfg ug{] / ltgLx¿sf] ;DaGwnfO{ a'‰g] -h;nfO{ JofVofsf] ¿kdf n]an ul/Psf] 

5_  

 cg'R5]b, tflnsf, u|fkm, OToflbdf pNn]v ul/Psf] s'/fx¿sf] k|of]u yfxf kfpg] h:t} u|fkmdf /x]sf 

;"rgfx¿sf] ;+lIfKtLs/0f ug{]{, 5'6]sf] hfgsf/L÷8]6f eg{sf] nflu 8]6fsf] JofVof ug]{, cflb . 

 o; txsf k|Zgx¿sf] lgdf{0f ubf{,t'ngf ug{ (compare), lrq0f ug{ (illustrate) ,cfˆg} zAbdf 

n]Vg (write in own words), q'l6 kQf nufpg (detect error), JofVof ug{ 

(interpret/explain), juL{s/0f ug{ (classify), leGgtf 5'6\ofpg (differentiate), hfg]sf 

;"rgfx¿sf] ;+lIfKtLs/0f ug{ (extrapolate), ;DaGw :yflkt ug{ (associate), cflb h:tf 

lj|mofkbx¿ k|of]u ul/G5g\\ . 

gd'gf k|Zg / ltgsf ljj/0f (Model items and their description) 

Item #6 

Coverage of item:  Grade 8, ;+1fgfTds tx (Cognitive level):  Understanding, 9fFrf 

(Format)  MCQ, Full mark:  1 

l;sfO pknlAw (Learning Objective): 1.1 Introduce and follow the scientific learning 

process. 

Unit 1: Scientific learning 

Objective of the item (in line with learning outcome): To follow the precaution 

that should be taken in laboratory during experimentation. 

Item: ld/f k|of]uzfnfdf k|of]u ub}{ lyOg\ . e"njz pgLn] ;f]l8od xfO8«f]S;fO8 5'g k'lug / xftdf kf]n]sf] 

cg'ej eof] . To;af6 /fxt kfpg ltgn] s]n] xft w'g' k5{ <Mira was doing an experiment in 

laboratory. She touched sodium hydroxide pallets mistakenly and felt burning in 

hands. What should she use to washwith her hands for relief?      (1 mark) 

A) ;fa'gkfgL  soap water 

B) sfutLkfgL  lemon water. 

C) r'gkfgL  limewater. 

D) xfO8«f]Snf]l/s cDn hydrochloric acid.  
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Key answer: B) sfutLkfgL lemon water.                 (1 

mark) 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) Ps ;xL tTjsf] nflu 1 c8\ssf] MCQ.  

;+1fgfTds tx (Cognitive level): ljBfy{L{x¿nfO{ lbOPsf] k|To]s kbfy{nfO{ cGt/;DalGwt ug{ / cDn / 

Iff/x¿sf] u'0fx¿ a'em]/ klxrfg ug{ cfjZos 5 ls s'g ljrlntst{fn] ;f]l8od xfO8«f]S;fO8 jf Iff/nfO{ t6:y 

u5{ .  

Item #7 

Coverage of item:  Grade 6, understanding Level, VSAQ, 1 mark 

l;sfO pknlAw (Learning Objective):  Introduce simple technology and modern 

technology with example 

Unit 2: Information and communication technology 

Objective of item (in line with learning outcome): compare the simple technology 

and modern technology on the basis of their structure. 

Item: lrqdf b'O{cf]6f oGqx¿ P / Q lbOPsf 5g\ . b'j} oGq 

cGg lkGgsf nflu k|of]u ul/G5g\ . agfj6sf] cfwf/df 

logLx¿larsf] Pp6f leGgtf n]Vg'xf];\ . 

In the figure two machines P and Q are given. 

Both of the machines are used to grind grains. Write a difference between P and Q 

on the basis of their structure. 

Marking scheme 

1 mark for correct response, maximum 1 mark 

Machine P is simple in structure with two stones whereas machine Q is very complex 

structure with different parts. 

Or 

Machine P is simple machine with simple structure whereas machine Q is modern 

machine with complex structure. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : VSAQ o;n] 1 tTjsf] ;fy Psn k|ltlqmof vf]H5 / 1 c8\ssf] xf] .  

p 
 

Q 
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;+1fgfTds tx (Cognitive level): of] k|Zgn] b'O{ d]l;gsf] ;+/rgf t'ngf ug{ ;f]W5 . ljBfy{Ln] b'j} d]l;gsf] 

;+/rgf cjnf]sg ug{'k5{ / b'j}sf] ;+/rgf 5'6\ofpg'k5{, To;kl5 dfq ltgLx¿n] t'ngf ug{ ;S5G.\ To;}n], of] 

k/LIf0f cfO6dnfO{ a'emfO txsf] j:t'sf] ¿kdf dflgG5 .  

Item #8 

Coverage of item: Grade 7, Understanding Level, VSAQ, 1 mark 

l;sfO pknlAw (Learning Objective): 9.6 Introduce compound and molecule 

Unit 9: Matter 

Objective of item (in line with learning outcome): Give reason for a matter to be 

a compound. 

Item: kfgLnfO{ lsg of}lus elgPsf] xf] < Why is water called a compound? 

Marking Scheme 

Water is called a compound because it is composed of two parts of hydrogen and 

one part of oxygen is combined together chemically. 

Or 

It is made of hydrogen and oxygen combined in a fixed proportion.  

Or  

Water can be broken down into simpler elements- oxygen and hydrogen.  

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] VSAQ k|sf/sf] cfO6d xf] lsgls o;df Psn tTj ;dfj]z ePsf] 5 . 

;+1fgfTds tx (Cognitive level): o;nfO{ a'emfOsf] tx dflgG5 lsgeg] o;df sf/0f lgsfNg cfjZos 

x'G5 . of] cfO6dnfO{ of}lussf] j}rfl/s a'emfO cfjZos 5 . 

  

Item #9 

Coverage of item:  Grade7, Understanding Level, SAQ, 2 marks 

l;sfO pknlAw (Learning Objective): 5.2 to explain comparing excretion in plants and 

animals and          5.3 introduce respiration in plants and animals and to describe its 

importance  

Unit 5: Life process 
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Objective of item (in line with learning outcome):  to mention the functions of 

stomata 

Item: ag:kltdf :6f]df6fsf s'g} b'Ocf]6f d'Vosfo{ pNn]v ug{'xf];\ . Mention any two main 

functions of stomata in plants.         

 (2 marks) 

Marking Scheme 

1 mark for each correct function of stomata, maximum 2 marks 

 Stomata help in gas exchange for the processes of respiration and 

photosynthesis. 

Or 

It takes carbon dioxide and release oxygen. 

 Stomata also help in regulating water movement through transpiration. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] 2 tTjx¿sf] nflu 2 c8\s /x]sf] SAQ cfO6d xf] .  

;+1fgfTds tx (Cognitive level): ljBfy{L{x¿n] :6f]df6fsf sfo{x¿ cfkm\g} zAbx¿df n]Vg]5Gf\ h;nfO{ 

cg'jfb cfjZos 5 . To;}n], of] cfO6dnfO{ k|of]u txdf /fVg ;lsG5   

Item #10 

Coverage of item:  Grade 7, Understanding Level, Format LAQ, 4 marks 

l;sfO pknlAw (Learning Objective):  6.1 Define distance, displacement, speed and 

velocity and to differentiate distance from displacement and speed from velocity. 

Unit 6: Force and motion 

Objective of item (in line with learning outcome):  Differentiate between distance 

and displacement; speed and velocity. 

 

Item: dfgf} sf/ X / sf/ Y n] ljGb' A b]lv B ;Dd uP . 

sf/ X n] af6f] 1 / sf/ Y n] af6f] 2 sf] af6f] k|of]u u¥of] . 

Suppose car X and car Y travelled from point A 

to point B. The car X followed path 1 and the 

car Y followed path 2. 

A) s'g sf/sf] rfnn] ult hgfpF5 < lsg<Which car of 

them represents velocity? Why?        (2 marks) 

Car X 
 

Car Y 
 



 16 

B) sf/ Y sf] j]u eGgfn] s] a'‰g' x'G5 < olb b'a} sf/nfO{ ofqf ug{ a/fa/ ;do nfu]sf] eP sf/ X sf] a]u 

w]/} x'G5, lsg <What do you understand by speed of car Y? If both of the cars take equal 

time to cover the distance, the car X has more speed, why?   (2 marks) 

Marking Scheme 

(a) Distance covered by the car X per unit time is called its speed   

 1 mark 

because, the direction of motion of car X changing time to time  

 1 mark 

 (b) 1 mark is given if the students can redefine speed in terms of motion of the cars 

- Velocity of the car Y is the displacement made by it per unit time  

 1 mark  

1 mark is granted if they can relate this definition with the greater speed  

 1 mark 

     -The Car X covers longer distance than the car Y. Thus, if they took same time, 

the rate of distance travelled by X is more than that of Y, hence X has greater speed.

   

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] cfO6d LAQ k|sf/sf]  xf] . o;df k|To]s tTjsf] 1 c8\s / s'n 4 c8\ssf] x'G5  .   

;+1fgfTds tx (Cognitive level): of] cfO6d a'em\g] tx;Fu ;DalGwt 5 lsgeg] o;df lrqdf k|:t't  

ljrf/x¿ klxrfg ug{ / a'em\g, ;t{x¿nfO{ k'g kl/eflift jf JofVof, / ;DaGwsf] JofVof ug{ cfjZos x'G5 . 

k|Zgsf] klxnf] efudf (s) ljBfy{Lx¿n] s'g sf/sf] ult lbOPsf] lrqaf6 j]u;Fu ldNbf]h'Nbf] 5 eg]/ klxrfg 

ug{ / a'em\g cfjZos k5{ . bf];|f] efudf pgLx¿n] k|bfg ul/Psf] lrqsf] ;Gbe{df j]usf] kl/efiffnfO{ JofVof 

ug{ cfjZos 5 . 

To;}u/L, k|Zgsf] klxnf] efu (b) nfO{ sf/ Y sf] ;Gbe{df ultsf] k'g/ kl/efiff cfjZos k5{ eg] bf];|f] efudf 

a9L ult lgw{f/0f ug{ b"/L / ;do aLrsf] ;DaGwsf] JofVof cfjZos k5{ . 

  

k|of]u tx(Application level) 

 

k|of]u txsf k|Zgx¿df ljBfyL{n] klxn] ;fdgf u/]sf] eGbf gofF jf km/s kl/l:yltdf cfkm"n] k|fKt u/]sf] 1fg / 

;Lksf] k|of]u ub{5g\ . o;sf nflu ;fdfGo lgod, ljlw, cjwf/0ff, l;4fGt / k|lqmofsf] k|of]u ug'{kg]{ x'G5 . 

k|rlnt k|Zgdf h:t} kl/df0f jf ;Fs]tx¿sf] kl/jt{g ub}{df, gofF gfdx¿ yKb}df jf k|Zg 9fFrfdf kl/jt{g ub}{df 

o; txsf k|Zgx¿sf] lgdf{0f xF'b}g . k|of]u txdf goFf k|Zg jf o:tf k|Zg h;sf] nflu s'g} k"0f{ ;dfwfg klxn] 

l;sfOPsf]÷l;lsPsf] 5}g, ck]Iff ul/Psf] 5, t/ o;nfO{ ;dfwfg ug]{ tl/sfsf] c+z l;sfOPsf] x'g;S5 . 



 17 

pbfx/0fsf nflu, ha ljBfyL{nfO{ lglZrt ;"q k|of]u ug{ elgG5 / ;d:of ;dfwfg ug{ elgG5 / ljBfyL{x¿nfO{ 

k"j{kl/lrt cj:yf k|bfg ul/G5 eg] o; cj:yfdf of] k|Zg s]jn af]w txsf] dfq x'g]5 . olb ;d:of ;dfwfg 

ug{ ljBfyL{n] pko'Qm ;"q klxrfg ub{5 / o;nfO{ k|of]u ub{5 eg] pSt k|Zg k|of]utxdf kb{5 . 

 k|of]u tx eg]sf] ;fdfGo ljrf/, k|lqmofsf lgodx¿ jf ;fdfGoLs[t ljlwx¿sf] cjwf/0ffnfO{ ljz]if / 

d't{ kl/l:yltdf ul/g] k|of]u xf] . o:tf cjwf/0ffx¿ k|fljlwsf ;fdfGo l;4fGt tyf ljrf/sf] ?kdf klg 

x'g ;S5g\ . 

 ;fdfGotof, k|of]u txsf k|Zgdf ;d:of"Problem"-P_ ;dfj]z x'G5, h;sf] nflu ljBfyL{n] k|of]u 

ug{sf] nflu ;xL ;dfGoLs/0f ÚGeneralizationÚ -G_ sf] rog ug{'kg]{ x'G5 . o; rogsf] cfwf/df 

;xL k|lj|mof jf ljlw "method or ProcessÚ (M_ nfu" u/L pSt ;d:ofsf] ;dfwfg ÚSolutionÚ 

-S_ df k'luG5 . k|of]u txsf k|To]s k|Zgdf oL rf/cf]6} tTjx¿ -PGMS_ x'g} kg]{ 5}g t/ k|of]u 

txsf k|Zgx¿df oL tTjx¿ dWo] @ cf]6f cFzdfq klg ;dfj]z ePsf x'g ;S5g . 

  ljBfyL{x¿n] k|of]u txsf k|Zgx¿sf] pQ/ lbgsf] nflu cfkm"n] l;s]sf 1fg / l;knfO{ k'gM Jojl:yt 

u/L ;d:of ;dfwfg ug'{kg]{ x'G5 . 

 k|of]u txsf k|Zgx¿ ;dfwfg ug]{ s|ddf eljiojf0fL ug]{, ;DaGw :yflkt ug]{ jf nfu" ug]{ Ifdtfsf] 

ck]Iff /flvG5 . ;fdfGotof,o:tf k|Zgx¿sf] lgdf{0f ubf{ nfu" ug{ (apply), k|bz{g ug{               -

demonstrate), k|of]u ug{ (use/apply), u0fgf ug{ (calculate), ;DaGw :yflkt ug{ 

(relate),k'/f ug{, (complete), k/LIf0f ug{ (examine), ;dfwfg ug{ (solve) h:tf lqmofkbx¿ 

k|of]u ul/G5g\ . 

                                                   (Hedges, 1966; Harper and Harper, 1990) 

  

gd'gf k|Zg / ltgsf ljj/0f (Model items and their description) 

Item #11 

Coverage of item:  Grade 6, Application Level, Format MCQ, 1 Mark 

l;sfO pknlAw (Learning Objective): 8.5 Demonstrate the methods of increasing 

magnetic strength of an electromagnet and tell uses of electromagnets. 

Unit 8: Electricity and Magnetism 

Objective of item (in line with learning outcome): Identify function of soft iron in 

the electromagnet.        

 

Item: ljB't r'Dassf] k|of]u kmf]x/af6 kmnfdsf 6'qmfx¿ 5'6\6ofpg klg k|of]u ug{ ;lsG5 . olb 

;f]n]GjfO8leq g/d kmnfdsf] kftfsf] ;6\6f s8f kmnfdsf] kftf k|of]u ul/of] eg] kmnfd 5'6\6ofpg] Ifdtfdf 

s] c;/ k5{ <Electromagnets can also be used to separate pieces of iron from garbage. 

What is the effect on the ability to separate iron if a hardened iron sheet is used 

instead of a softiron sheet inside the solenoid?? 
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A) Ifdtf 36\g]5   Ability will decrease. 

B) Ifdtf kl/jt{g x'b}g   Ability will not change. 

C) Ifdtf j9\g]5    Ability will increase. 

D) Ifdtf z"Go x'Gf]5    Ability will be zero. 

Key answer 

Key: A) Ifdtf 36\g]5 Ability will decrease. 

 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): MCQ df 1 tTj ;lx pQ/ xf] .  

;+1fgfTds tx (Cognitive level): of] cfO6dn] ljBfy{L{x¿nfO{ pQ/x¿ rog ug{sf nflu cfkm"n] l;s]sf] 

;fdu|LnfO{ k'gM Jojl:yt ug{ cfjZos 5 . o; ;d:ofsf] ;dfwfgsf] nflu, pgLx¿nfO{ r'DasLo If]qsf] kl/df0f 

a9fpg] jf 36fpg] ljlwsf] af/]df 1fg x'g'k5{ / k|Zgdf lbOPsf] gofF kl/l:yltdf o;sf] k|efj klxrfg ug{'kb{5  

.  

Item #12 

Coverage of item:  Grade 6, Application Level, Format VSAQ, mark 1 

l;sfO pknlAw (Learning Objective): 9.3 State methods of separation of mixture. 

Unit 9: Matters 

Objective of item (in line with learning outcome): To state method of separation 

of mixture applied in the process. 

Item: ;'hgn] ld>0f 5'§fpg] :yflgo k|ljlw k|of]u u/]/ cfk\mgf] af/Ldf /f]k]sf] ;'ulGwt la?jfsf] kftaf6 

k|;f]lwt ;'ulGwt yf]kf lgsfNg rfxG5g\ . To;sf] nflu  . pSt ld>0faf6 k|;f]lwt ;'ulGwt yf]kf lgsfNg s'g 

ljlw k|of]u ug'{k5{ < Sujan is trying to extract aeromated drops from leaves of an aromatic 

plant grown in his field by using local technology of separation of mixture. He has 

kept crushedleaves of the plant in water for that purpose. Which method should he 

apply to extract refined aromatic drops from that mixture? (1 mark) 

 

Marking Scheme 

Distillation process / He should apply Distillation process    

 1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) :  o; cfO6ddf ljBfy{L{n] Ps zAb jf Ps jfSodf k|ltlqmof lbg'kb{5, of] VSAQ xf] . 
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Water  kfgL 

;+1fgfTds tx (Cognitive level): oxfF ljBfy{Ln] ld>0fnfO{ cnu ug{] ljleGg ;Defljt ljlwx¿ t'ngf 

u5{Gf\ / To;kl5 ljleGg t/n kbfy{x¿sf] ld>0fnfO{ cnu ug{ pko'Qm k|lqmofut lgodx¿ klxrfg u5{G. 

k|Zgsf] ;Gbe{ ljBfy{Lsf nflu klg gofF 5 . To;}n], cfO6d k|of]u txsf] xf] .  

Item #13 

Coverage of item:  Grade 7, Application Level, Format VSAQ, 1 mark 

l;sfO pknlAw (Learning Objective):  Prepare a report of science practical works. 

Unit 1: Scientific Learning 

Objective of item (in line with learning outcome): Identify part of report of science 

practical works. 

Item: /Gh'n] lrqdf b]vfPh:t} k|of]ufTds sfo{ ub}{l5g\ . Ranju is performing an experiment as 

shown in the given diagram.  

 

 

pgsf] k|of]usf] p2]Zo s] x'g ;Snf <What might be the objective of her experiment? 

Marking Scheme 

To observe different state of water 

Or  

Changes in the state of water due to heat      1 

mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] cfO6dsf] k|sf/ VSAQ nfO{ 1cª\ssf] eP/ Psn tTj rflxG5 .  

;+1fgfTds tx (Cognitive level): of] k|of]u txsf] cfO6d xf] lsgeg] o;df ljBfy{L{x¿nfO{ lbOPsf] 

k|of]usf] JofVof ug{ / k|of]usf] l/kf]6{sf] pko'Qm efu klxrfg ug{ cfjZos 5 .  

Item #14 

Coverage of item:  Grade 8,  Application, SAQ, 2 marks 

Ice  a/km 
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l;sfO pknlAw (Learning Objective):  6.2 Define acceleration and solve simple 

numerical problems related with it.  

Unit 6: Force and Motion 

Objective of item (in line with learning outcome): Solve simple numerical 

problems related with acceleration.  

Item: lrqdf b]vfOPcg';f/ Pp6f sf/ laGb' A df x'Fbf, 8«fOe/n] ;8sdf 100 m k/ Pp6f aRrf unt 

lsgf/faf6 ;fOsn rnfFpb} u/]sf] b]Vof] . 8«fOe/n] a|]s nufP/ sf/nfO{ 4 s df laGb' Bdf /f]Sof] . pSt sf/ 

laGb' A af6 laGb' B df k'Ubf slt ultx|f; eof] < pko'St ;"qsf] k|of]u u/L u0fgf ug'{xf];\ . 

When a car was at point A as shown in the diagram, the driver saw a child cycling 

towards the car at a distance of 100 m along the road at wrong side. The driver 

brought the car to point B in 4 s by applying brakes. Calculate retardation of the car 

by using suitable formula when the car travelled from point A to point B.                                                                              

(2 marks) 

Marking Scheme 

Here,  

Initial velocity (u) =25 m/s 

Final velocity (v) =0 m/s      

Time (t) = 4 s  

Retardation (-a) = ?  

we have, 

a = 
𝑣−𝑢

𝑡
        1 mark 

(Reward full marks 1, even if only formula is written without the details of the values 

given in the problem) 

or a = 
0−25

4
 = - 6.25 m/s2 

Thus, retardation of the car is 6.25 m/s2     1 mark 
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cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] SAQ cfO6d xf] lsgls ljBfy{L{x¿n] Psn ;"q k|of]u u/]/ Psn r/0fdf ;+VofTds 

;dfwfg ug{ ;S5G. k|Zgn] ;d:ofsf] b'O{ leGg tTjx¿sf] nflu 2 c8\sx¿ /fv]sf] 5 . ;dfwfgsf] nflu pko'Qm 

;"qsf] k|of]usf] nflu 1 c8\s k|bfg ul/g]5 / csf]{ 1 c8\s ;d:of ;dfwfgsf] nflu k|of]u ul/Psf] ;xL 

k|lqmofsf] k|of]usf] nflu k|bfg ul/g]5 .   

;+1fgfTds tx (Cognitive level): of] cfO6d k|of]u txsf] xf] lsgeg] ljBfy{L{x¿n] lbOPsf] ;d:ofsf] 

JofVof ug{ / o;nfO{ ;dfwfg ug{ pko'Qm ;"q nfu" ug{ cfjZos 5 .  

Item #15 

Coverage of item:  Grade 8,  Application, LAQ, 4marks   

l;sfO pknlAw (Learning Objective): 4.2 tell causes of loss of biodiversity with 

example and 

   4.4 identify the measures of conservation of biodiversity 

Unit 4:Biodiversity and Environment 

Objective of item (in line with learning outcome): To apply understanding to find 

the cause of biodiversity and to suggest the measures of conservation of biodiversity 

in a novel situation.    

Item: & cu:t @)!^ df æb lxdfnog 6fOD; æ df k|sflzt, >L /f]xg clwsf/Lsf] ljrf/sf] s]xL c+z oxfF 

lbOPsf] 5–================== w]/}nfO{ sfF8] Eofs'/ / of] g]kfndf dfq kfOg]af/] klg yfxf 5}g . oxL ;d:ofsf sf/0f 

b'n{e hgfj/sf] l;sf/ x'g] u/]sf] 5 . g]kfnsf] :jfledfgnfO{ hf]ufpg jGohGt' cf/If / /fli6«o lgs'~hsf] 

:yfkgf ug{'k5{ . o;af6 xfdLn] g]kfnsf] jg:klt / hLjhGt'sf] ;+/If0f ug{ ;S5f}F . 

A part of opinion of Mr. Rohan Adhikari published in The Himalayan Times on 7 

August 2016 is given here -…………Many people do not even know about spiny 

babbler and that it is found only in Nepal. So, due to this problem, rare animals are 

being poached. To conserve the pride of Nepal, wildlife reserves and national parks 

for both flora and fauna have to be established. So, by this we can protect the flora 

and fauna in Nepal. 

o; cFzsf] cfwf/df lgDglnlvt k|Zgx¿sf] pQ/ n]Vg'xf];\ . Answer the following questions on the 

basis this part. 

A) oxfF plNnlvt sf/0fafx]s g]kfnsf] t/fO{df u}F8f / lxdfnL If]qdf lxFplrt'jfsf] ;FVof 36\g] Ps Pscf]6f 

sf/0f n]Vg'xf];\ . Mention one cause of each for decreasing the number of 

rhinoceros in Terai and snow leopard in Himali region.       (2 

marks) 

B) pk/f]St ljrf/sf] c+zdf plNnlvt ;d:ofsf] ;dfwfgdf ;xof]u ug{ ls;fgx¿n] x/]s k6s wfg / 

uxF'afnL leq\ofPkl5 s] s:tf] ls|ofsnfkdf lgoGq0f ug'{kg]{ b]lvG5 < o:tf] lgoGq0faf6 ls;fgnfO{ g} 
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x'g] kmfObf klg n]Vg'xf];\ .What activities have to be controlled by Nepalese farmers 

after each harvesting of rice and wheat to support in the solution of the 

problem mentioned in the part of opinion given above. Also mention its one 

advantage to farmers by this control.         

  (2 marks) 

Marking scheme: 

A) For any one correct response of following for rhino -   1 

mark 

 careless use of insecticides 

 forest fire 

 grazing of domestic animals in forests 

 encroachment of water resources 

 any other correct response 

 

For any one correct response of following for snow leopard -  1 

mark 

 global warming/ climate change 

 visit and activities of human in the habitat 

 less number of prey animals 

 any other correct response 

B)  

 They should not burn their straw in the field.                                                 1 

mark 

 Conserves the microorganisms and insect which support in farming.           

1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] LAQ k|sf/sf] cfO6d xf] lsgeg] ToxfF 4 tTjx¿ 5Gf\ h;df k|To]sdf 1 c8\s / 

s'n 4 c8\sx¿ 5G.\ .  

;+1fgfTds tx (Cognitive level): of] cfO6d k|of]u txsf] xf] lsgls o;df ljBfy{L{n] gofF kl/l:yltdf 

cWoogsf] cfkm\gf] 1fg nfu" ug{'kb{5 /  ljz]if / 7f]; kl/l:yltdf cd"t{ s'/fx¿sf] k|of]u ug{'kb{5 . ljrf/ jf 

;fdfGoLs[t ljlwx¿ o; cfO6ddf, o;df PGMS sf] k|of]u 5 -;d:of, ;fdfGoLs/0f, ljlw / ;dfwfg_  

pRrbIftf tx (Highr Ability level) 
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ljBfyL{x¿nfO{ c;n kl/l:yltdf ;+nUg u/fpg] /  laleGg kl/l:yltdf 1fgsf] k|of]u ug]{  Ifdtfsf] k/LIf0f ug{  

;Sg] k|Zgx¿nfO{ pRr bIftfdf juL{s[t ul/G5 . An"dsf] juL{s/0fsf] ;Gbe{df o:tf k|Zgx¿ ljZn]if0f, ;+Zn]if0f, 

/ d"NofÍg -;+zf]lwt ;+:s/0fdf ljZn]if0f, d"NofÍg, / l;h{gf_ x'g\ . o:tf k|Zgx¿nfO{ sIff 8 sf] ljlzi6Ls/0f 

tflnsfdf pRr bIftfsf] ¿kdf ;d]l6Psf] 5. 

ljZn]if0f cGtu{t ljBfyL{n] h6Ln cjwf/0ffnfO{ To;sf] cfwf/e"t efu jf tTjx¿df ljeflht ub{5 / p;n] 

ltgLx¿sf] ;DaGw a'em]sf] b]vfpF5 . hals ;+Zn]if0fdf tTj jf efux¿nfO{ Ps ;';+ut k"0f{ 9fFrf agfpgsf] 

nflu Ps ;fy /flvG5 . o;}u/L d"NofÍgdf ljBfyL{n] dfkb08sf] cfwf/df lg0f{o ug]{ Ifdtf b]vfpF5 . pRr 

bIftf txsf k|Zgx¿df ljBfyL{x¿n] lgDg Jojxf/ k|bz{g ug]{ ck]Iff ul/G5 . 

 s'g} s'/fnfO{ o;sf] 36s÷tTjx¿df cnu ug{ jf ;DaGwsf] ljZn]if0f ug{ -k|df0f / kl/sNkgf, sf/0f 

/ k|efj, qmd kQf nufpg, lgisif{ lgsfNg_ jf ;+u7gfTds l;4fGtx¿sf] ljZn]if0f ug{, 

 kl/sNkgfaf6 tYox¿ 5'6\ofpg, lgisif{ / ;dy{g sygsf] klxrfg ug{, Ps ljrf/sf] csf]{;Fu ;DaGw 

kQf nufpg, 

  s'g} klg b'O{ jf b'OeGbf a9L cjoj jf 36gf h:t}– kl/sNkgf, k|df0f jf lgisif{, tfls{s e|dx¿sf] 

klxrfg, sf/0f / k|efj ;DaGw tyf qmdx¿ aLrsf] ;DaGw kQf nufpg, 

 :j?k, 9fFrf, cGtlg{lxt ;+u7g kQf nufpg jf klxrfg ug{, 

  lj1fgsf]] s'g} ljifoj:t'nfO{ syfsf] ¿kdf gofF 9fFrf -;+Zn]if0f_ agfpgsf] nflu tTjx¿nfO{ Ps ;fy 

/fVg, syf jf 36gf ;'gfpg, 36gf Oltxf; n]Vg, jf k|of]ufTds ultljlwx¿df ;+nUg x'g, of]hgf 

lgdf{0f jf ;~rfngsf] ;]6 k|:tfj ug,{ k|ls|ofsf] ljZn]if0f ug{ / ;+nUg sf/sx¿ JofVof ug{sf] nflu 

kl/sNkgf tof/ ug{, 

 ts{df q'l6x¿ kQf nufpg, lglb{i6 dfkb08sf cfwf/df sygx¿sf] d"NofÍg ug{, 

  q'l6 kQf nufpg jf klxrfg ug{, ;xL jf unt laGb'x¿ kQf nufpg, lg0f{osf] sf/0f lbgÙ Pp6} 

;d:of ;dfwfg sf nflu ug{ ldNg] b'O{ km/s k|of]ufTds pkfosf] kof{Kttf atfpg . 

 (Hedges, 1966; Harper and Harper, 1990; Bloom, Hastings and 

Madaus, 1971) 

 

gd'gf k|Zg / ltgsf ljj/0f (Model items and their description) 

Item #16 

Coverage of item:  Grade 9, Higher Ability Level, Format MCQ, 1 mark 

l;sfO pknlAw (Learning Objective):  Exemplify transformation of energy, 

Unit 7: Energy in daily life 

Objective of item (in line with learning outcome): identify the transformation of 

energy from given example. 

Item: x]dfn] Pp6f tfdfsf] kftf / h:tfsf] kftf Pp6f cfn'df ufl8g\ . pSt kftfx¿nfO{ tfdfsf] tf/n] 

lrddf hf]8]/ lrd aflng\ . pSt k|j[mofdf ePsf] zlSt ?kfGt/0f tnsf dWo] s'g xf] <Hema inserted a 
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copper plate and a zinc plate in a potato. Then, she glows a bulb by connecting those 

plates using copper wire. Which of the following is the energy transformation 

process occurred in the above activity? 

A) /f;folgs zlSt k|sfz zlSt ljB't zlSt 

chemical energy light energy  electrical energy 

B) /f;folgs zlSt  ljB't zlSt k|sfz zlSt 

chemical energy  electrical energy light energy  

C) ljB't zlSt k|sfz zlSt /f;folgs zlSt 

electrical energy  light energy  chemical energy 

D) k|sfz zlSt ljB't zlSt /f;folgs zlSt  

light energy  electrical energy  chemical energy  

       

Key answer: B) /f;folgs zlSt  ljB't zlSt k|sfz zlSt 

Chemical energy  electrical energy light energy 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): MCQ df 1 tTj ;lx pQ/ xf] .  

;+1fgfTds tx (Cognitive level): oxfF, ljBfy{L{n] cfn'df pTkfbg x'g] pmh{fsf] k|sf/ lrGg'k5{ / cfn'af6 

aNjdf pmh{fsf] ¿kfGt/0fsf] 9fFrf kQf nufpg' k5{ . To;}n], of] Ps pRr Ifdtf k|Zg xf] .  

 

Item #17 

Coverage of item:  Grade 6, Higher Ability Level, VSAQ, 1 mark 

l;sfO pknlAw (Learning Objective): Identify the special adaptational feature of plant 

Unit 3:Living beings and their structure 

Objective of item(in line with learning outcome): Detect adaptational of plants. 

Item: ;/f]hn] pgsf] 3/sf] 5]pdf /x]sf] Pp6f sf7sf] 7"6f]df Ps k|sf/sf] hLj pd|]sf] b]v] . To;sf] ljz]iftf 

tnsf] tflnsfdf lbOPsf] 5 . Saroj observed a type of organism grown on a wooden log 

beside his house. The characteristic of the organism is given in the table. 

 

ljz]iftfsf cfwf/ (basis of 

Characteristics) 

ljz]iftf (Characteristics) 
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/ª (Colour) ;]tf](white) 

agfj6(Structure) g/d / 5ftf h:tf] cfsf/ ePsf] Soft and umbrella shape 

hLjg cjlw(Life span ) s]lx lbg dfq (few days only) 

hLjsf] agfj6n] o;nfO{ jftfj/0fdf cg's'ng x'g s;/L ;xof]u u5{ ? How does the structure of the 

organism help it to adapt to its environment? 

Marking Scheme 

Attached mycelium of organism helps to get energy by decomposing tissue of log. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): of] cfO6d 1 c8\s af]Sg] 1 tTj ePsf] VSAQ k|sf/sf] xf] .  

;+1fgfTds tx (Cognitive level): oxfF, ljBfy{Ln] tflnsfdf lbOPsf] ljz]iftfx¿sf] cfwf/df hLjx¿sf] 

k|sf/ lrGg'k5{ / hLjx¿sf] cg's"ng ;'ljwfx¿sf] ljZn]if0f ug{'k5{ To;kl5 ljz]if cg's"ng ljz]iftfx¿sf] 

d"n\ofÍg / klxrfg ug{'k5{ . d'Vo ¿kdf nu df a9\g d2t u5{ .  

 

Item #18 

Coverage of item:  Grade 7, Higher Ability Level, Format SAQ, 2 marks 

l;sfO pknlAw (Learning Objective):  Identify acid and base with the help of indicators 

Unit 10: Materials used in daily life 

Objective of item (in line with learning outcome): Introduce indicators and 

differentiate acid, base and salt with the help of the indicators.  
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Item: ;'lbgfn] s]/f / cdnfsf] cDnLo jf Iff/Lo u'0f k/LIf0f u/]/ tnsf] tflnsfdf glthf el/g . Sudina 

tested acidic or basic nature of banana and Aamala and filled the given table. 

kmnkm'n(Fruit) ln6d; k]k/df /ª 

(Colour in Litmus 

paper) 

ldyfOn c/]Ghdf /ª 

(Colour in Methyl 

orange) 

km]gf]Nkm]yflngdf /ª 

(Colour in 

Phenolphthalein) 

1 lgnf] (Blue) kx]Fnf] (Yellow) /ª\uxLg(Colourless) 

2 lgnf] (Blue) /ftf] (Red) /ª\uxLg(Colourless) 

glthf eg]{ j|mddf pgn] k|To]s kmnkm'nsf af/]df Ps Pscf]6f u/L b'O{cf]6f uNtL u/]sL l5g\ . pgLn] u/]sf] 

uNtL klxrfg u/L To;sf] k'i6\ofO{ ug'{xf];\ . At the time of taking result, she made one mistake 

for each of the fruit. Identity and justify her mistakes.    

 (2 marks) 

Marking Scheme 

One mark for identification and justification of each mistake, maximum 2 marks 

Banana is basic and Aamala is acidic in nature. For fruit 1, colour in litmus paper is 

blue and that of methyl orange is yellow. This shows that it is basic in nature 

(banana). So the colour in phenolphthalein (colourless) for the same fruit is 

mistaken. 

If fruit 1 is banana, then fruit 2 is Aamala. For Amala the colour in methyl orange is 

red and that in phenolphthalein is colourless. They indicate acid. But the blue colour 

in litmus is mistaken. 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of]  2 c8\ssf] SAQ h;df k|To]s  tTjsf] 1 c8\s x'G5 /  b'O{ tTjsf] 2 c8\s x'G5 . 

;+1fgfTds tx (Cognitive level): of] cfO6d pRr Ifdtf txsf] xf] lsgeg] ljBfy{Lx¿n] k|of]usf] kl/0ffd 

d"NofÍg ug{ cfjZos 5 . 

of] cfO6dn] cDnLo / Iff/Lo kmnx¿ åf/f ;"rsx¿df lglb{i6 /ª kl/jt{gx¿sf] ;Gbe{df ;'lbgfsf uNtLx¿sf] 

d"n\ofÍg ub{5 . b'O{ kmnsf] gfd lbOPsf] 5 t/ kl/0ffd tflnsfdf ltgLx¿nfO{ 1 / 2 sf] ¿kdf k|tLs ul/Psf] 

5 . gfdaf6 ljBfy{L{x¿n] Pp6f cDnLo / cs{f{] Iff/Lo kmn xf] eg]/ klxrfg ug{]5G.\ o; ;Í]tsf] cfwf/df, 

ljBfy{Lx¿n] kl/0ffd tflnsfsf] k|To]s klª\Qmdf Pp6f uNtL km]nf kfg{ cfjZos 5 . k|To]s kmnsf] nflu, b'O{ 

;"rsx¿df /ªx¿ ;xL 5Gf t/ t];|f] unt 5 . 
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Item #19 

Coverage of item:  Grade8, Higher Ability, LAQ, 4 marks. 

Learning Objectives:9.1 Describe the atomic structure of elements upto atomic number 

20. 

9.5 Describe periodic trends according to period and group of 

elements. 

9.6 Define molecular formula and write molecular formula of 

different compounds. 

9.7 To calculate atomic weight and molecular weight 

Unit9:Matter 

Objective of item(in line with learning outcome): Sketch atomic structure of 

particular atom, analyse cause of reactivity, write molecular formula of a particular 

compound and calculate its molecular weight. 

Item:tn k]l/of]l8s 6]ansf] Pp6f efu lbOPsf] 5 . o;sf] cfwf/df lgDglnlvt k|Zgx¿sf] pQ/ lbg'xf];\ . 

A part of periodic table is given below. Answer the following questions on the basis 

of the part of the table. 

 Group 

1 

;d'x ! 

Group 

2 

;d'x@ 

Group 

13 

;d'x!# 

Group 

14 

;d'x!$ 

Group 

15 

;d'x !% 

Group 

16 

;d'x!^ 

Group 

17 

;d'x!& 

Group 

18 

;d'x!* 

Period 

2 

k]l/of]8 @ 

Li Be B C N O F Ne 

Period 

3 

k]l/of]8 # 

Na Mg Al Si P S Cl Ar 

 

A) tLdWo]sf] ;a}eGbf ;ls|o cwft'sf] k/df0fljs ;F/rgfsf] /]vfª\sg ug{'xf];\ . pSt tTTjsf] ;ls|otfsf] 

sf/0fsf] laZn]if0f klg ug'{xf];\ . Sketch atomic structure of the most active non-metal 

of them. Also analyse the cause of the reactivity of the element? (2 marks) 

B) cNo'ldlgod / ;Nkm/ aLr k|ltls|of eO aGg} of}lussf] c0f';"q n]v]/ To;/L ag]sf] of}lussf] cf0f'ljs 

ef/ kQf nufpg'xf];\ . Write the molecular formula of the compound formed by the 

reaction between aluminium and sulphur and find the molecular weight of the 

compound so formed.         

 (2 marks) 
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Marking Scheme 

A)  

 For the atomic structure of fluorine   1 

mark 

 

 

 It is the most active non-metal with valency 1 and the smallest atomic 

size.                                            1 mark    

B)  

 Al2 S3          1 mark 

 Al2 S3  

= 27x2 + 32x3 

= 54 + 96 

= 150 amu        1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] cfO6d LAQ  k|sf/sf] xf] . of] 4 c8\ssf] 5 / 4 tTjx¿ ;xL pQ/sf] ¿kdf n]Vg'kg]{ 

x'G5 .  

;+1fgfTds tx (Cognitive level) : of]  cfO6d pRr bIftf txsf] xf] lsgls of] ljleGg xfl;n u/]sf] 

1fgsf] ;+of]hg ug{, sf/0f / k|efj ;DaGw / cg'qmdx¿df cfwfl/t ljleGg tTjx¿ aLr ;DaGw :yflkt ug{ 

cfjZos 5 . ljZn]if0f ljleGg tTjx? aLr t'ngf df cfwfl/t 5 .  

 

Item #20 

Coverage of item:  Grade 7, Higher Ability, LAQ, 4 marks 

l;sfO pknlAw (Learning Objective):  Comparative study of planets  

Unit9: Earth and Space 
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Item: tflnsfdfW, X, Y / Z u|xx¿sf]  kl/qmd0f / lbgsf] nDafOsf] cjlw b]vfOPsf] 5 . Revolution 

and length of day period of planets W, X, Y and Z are shown in the table. 

u|xPlanet kl/qm|d0f sf] cjlw Revolution Period lbgsf] nDjfO Length of Day 

W 88 days 1,408 hour 

X 224.7 days 5,832 hour 

Y 365 days 24 hour 

Z 687 days 25 hour 

 

:f"o{af6 ;j}eGbf 6f9f /x]sf] u|x / ;j}eGbf tftf] u|x s'g s'g x'g < sf/0f ;lxt JofVof ug{'xf];\ . Which is 

the farthest planet from the Sun and which is the hottest planet? Explain with reason. 

  (4 marks)  

Marking Scheme 

 Farthest planet from the sun – Z 1 mark 

 Perimeter or total size of orbit of Z is biggest among W, X, Y and Z or 

revolution period of Z is highest among all so it is farthest from the sun.  

 1 mark 

 Hottest planet X        1 mark 

 Since the sun shines on X for a long time or because the length of the day is 

the longest.          

 1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format) : of] 4 cª\ssf] LAQ k|sf/sf] cfO6d xf] . o;df ;xL pTt/sf] ?kdf 4 cf]6f tTjx? 

/x]sf x'G5g\ .  

;+1fgfTds tx (Cognitive level): of] j:t'nfO{ tflnsfsf] JofVof cfjZos 5 / To;kl5 lbOPsf] 

8]6f÷hfgsf/L t'ngf ug{'xf];\ . 

Item # 21 (Mixed format and mixed cognitive level item) 

Coverage of item:  Grade 8, Knowledge, Understanding and Higher Ability Levels, 

LAQ (with  

VSAQ, SAQ and MCQ), 4 marks in total 

l;sfO pknlAw (Learning Objective):   
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7.1 explain the various methods of transmission of heat (conduction, 

convection and radiation) with practical evidences  

7.2 identify conductor and insulator of heat and state uses of heat conduction 

in daily life 

1.1 perform simple survey / research inside or outside the laboratory using a 

definite method and prepare a report of it. 

Unit 1: Scientific Learning 

Unit 7: Energy in daily life 

Objective of item (in line with learning outcome):  

 Explain condition that heat transfer takes place (from higher temperature to 

lower). 

 Identifytype of heat transfer that takes place in metals. 

 Determine objective of the experiments based on the analysis of given 

conditions. 

 

Item: saL/n] Pp6f k|of]usf] nflu # cf]6f ;]6x¿ tof/ ug{'ePsf] 5 . 

Alunf;df80˚C  sf]kfgL 5 . B lunf;df 5˚C sf] kfgL 5 . lrqdf b]vfOPsf] 

h:t} wft'sf tf/x¿ lunf;x¿df 8'afOPsf] 5 . kfgLdf 8'afOPsf wft'sf tf/x¿ 

p:t} nDafO / df]6fOsf 5g\  t/ ljleGg k|sf/sf 5g\ . ;]6 ! df kmnfd, ;]6 @ 

df lkQn /  ;]6  # df tfdf 5 . 

Kabir has prepared 3 sets for an experiment – water in glass 

A is 80˚C and water in glass B is 5˚C and metal wire dipped 

in the glasses as shown in the figure. Metal wires dipped in the water are equally 

long and thick, but are of different types - in set 1 it is iron, in set 2 it is brass, and 

in set 3 it is copper.  

A) A / B nfO{ hf]8\g] wft'sf] tf/ 8'afPsf] 1 ldg]6 kl5 lunf; B df kfgLsf] tfkqmddf s] kl/jt{g x'G5 / lsg 

< JofVof ug{'xf];\ .What change will occur in the temperature of water in glass B after 1 

minute of dipping of metal wire connecting glasses A and B? Explain why?                        

(2 marks) 

B) lunf; A /  B sf] aLrdf s'g k|sf/sf] tfksf] :yfgfGt/0f x'G5 <Which type of heat transfer 

takes place between glass A to glass B?     (1 mark) 

C) o; k|of]usf] ;a}eGbf pko'St p2]Zo s'g xf] < -Pp6f 5fGg'xf]:f\_ What is the most plausible 

objective of this experiment? (Choose one)     

 (1 mark) 

B 
 

A 
 

80˚C 

 

5˚C 
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i. wft'x¿df ;~rngljlwåf/f tfksf] :yfgfGt/0f x'G5 eg]/ lgwf{/0f ug{ .To determine that heat 

is transferred by conduction in the metals. 

ii. tfksf] :yfgfGt/0f pRr tfkqmdaf6 Go"g tfkqmddf x'G5 eGg] kQf nufpg . To find out that 

heat transfer takes place from higher temperature to lower temperature. 

iii. lbOPsf wft'x¿df s'g wft' tfksf] /fd|f] ;'rfns xf], kQf nufpg . To find out which of the 

metal is better conductor of heat. 

iv. tfksf] :yfgfGt/0fsf] nflu nfUg] ;do u0fgf ug{ . To calculate time that takes to get 

heat transferred. 

Marking scheme 

A) Temperature of water in glass B will increase     1 

mark 

Reason: Heat transfers from higher temperature to lower temperature  1 

mark 

B) Conduction          1 

mark 

C) iii) To find out which of the metal is better conductor of heat.  

 1 mark 

cfO6dsf] ljj/0f (Description of the item) 

9fFrf (Format): pkk|Zg A SAQ xf] h;df 2 tTjx¿ 5Gf / 2 c8\sx¿ 5Gf pkk|Zg B VSAQ xf] 1 

tTj ePsf] / 1 c8\ssf] 5, / pkk|Zg C MCQ k|sf/ xf] . sDkf]lh6df, o; cfO6dnfO{ LAQ dflgg]5 

h;df 4 tTjx¿ 5Gf h;df s'n 4 c8\s ePsf] ;xL k|ltlqmof x'g]5 . 

;+1fgfTds tx (Cognitive level): olb LAQ df pkk|Zgx¿ 5Gf eg], of] cfjZos 5}g ls ;a} pkk|Zgx¿ 

;dfg ;+1fgfTds :t/df x'g'k5{ . of] cfO6dn] Pp6f kl/b[Zo k|:t't ub{5 hxfF pkk|Zgx¿ ljleGg ;+1fgfTds 

txx¿df x'g ;S5G.\ . 

 pkk|Zg A jf]w txdf 5 lsgls o;n] ljBfy{L{nfO{ lbOPsf] k|of]ufTds cj:yfdf pRr tfkqmdaf6 tNnf] 

tfkqmddf tfk :yfgfGt/0f x'G5 eGg] l;4fGtnfO{ PS:6«fkf]n]6 ug{ cfjZos 5 .  

pkk|Zg B 1fg txsf]  5 . tfk :yfgfGt/0f 8'a]sf] wft'sf] sf/0fn] eO/x]sf] 5 / wft'df tfk x'G5 . of] tYok/s 

hfgsf/L xf] .  

pkk|Zg C pRr bIftf txdf 5 lsgls o;df ljBfy{Lx¿nfO{ k|of]un] ljrf/ ug{ ;Sg] ljleGg cj:yfx¿sf] 

ljZn]if0f ug{ / o:tf] k|of]usf] af/]df sfd ug{] ;a}eGbf dxTjk"0f{ kIf rog ug{ cfjZos 5 .  
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Kf|Zg /cfO6dx¿sf] juL{s/0f ubf{ ckgfOg] ;fjwfgLx¿ (Cautions in classification of items) 

s'g} k|ZgnfO{ d'Votof dfkg ug{sf] nflu l8hfOg ul/Psf] s'/fsf] cfwf/df juL{s[t ul/g' k5{, oBlk cGo 

Ifdtfx¿ s]xL ;fgf] :t/df ;+nUg x'g ;S5g\ -An'd, 1956_ . k|Zgx¿sf] juL{s/0fsf] nflu lgDg ;'emfjx¿ 

lbOPsf 5g\ M 

 k/LIffyL{sf] cg'ej / k|lzIf0f tyf k|Zgsf] hjfkm lbFbf k/LIffyL{sf] lbdfudf s] rN5 eGg] s'/f ljrf/ 

ug'{k5{ . 

 w]/} k|Zgx¿df k|To]s :t/sf ;a} Ifdtfsf tTjx¿ ;+nUg x'G5g\, t/ km/s dfqfdf . 

 Ifdtf:t/x¿sf] kbfg'j|md ;lk{nfsf/ (spiral) x'G5 . s'g} Ifdtf :t/ dflyNnf] txdf k'u]kl5 cfkm} 

lg/Gt/ tNnf] txdf kl/jlt{t x'G5 . 

 oBlk s'g} k|Zgdf ;a} :t/x¿ s]xL xb;Dd ;+nUg x'g ;S5g\, ;fdfGotof k|Zgsf] juL{s/0fdf Pp6f 

cfwf/ k|d'v / k|efjzfnL dfGg'k5{ . 

dfls{ª l:sd (Marking Scheme) 

Constructed Response/Subjective k|Zgx¿sf] pQ/ lbFbf leGg k|ltlqmofx¿sf] ;Defjgf  /  t'ngfTds 

¿kdf v'Nnf x'g]ub{5 . To:tf k|Zgx¿sf] pQ/sf] k/LIf0fdf ;Dej eP;Dd Ps?ktf Nofpgsf] nflu dfls{ª 

l:sd ljsf; ul/Psf] x'G5 . k|Zgx¿sf] d:of}bfsf] qmddf j:t'ut k|sf/sf k|Zgsf nflu pQ/ s'l~hsf / 

ljifout k|Zgsfnflu dfls{ª of]hgfx¿ tof/ u/L, k"j{–k/LIf0f u/]/ clGtd ¿k lbOG5 . dfls{ª l:sd ljsf; 

ubf{ d"ntM lgDg kIfx¿nfO{ ljrf/ ug{'k5{, . 

 dfls{ª of]hgfx¿ ljleGg k|sf/sf ck]lIft hjfkmx¿sf]] ljZn]if0fdf cfwfl/t x'G5g\ . 

 dxTjk"0f{ tTjx¿ ;"rLa4 ul/G5g\\ / ts{x¿ r/0fa4 ¿kdf, kbfg'qmddf k|:t't ul/G5g\ .  

 ;Dej eP;Dd ;a} ;Defljt÷ck]lIft pQ/x¿ pknAw u/fOG5 / oyf;Dej÷;Defljt pQ/x¿sf 

nflu v'nf ;"rs ;'emfjx¿ pknAw u/fOG5 . 

 tTjx¿ jf ts{ r/0fx¿df c8\sx¿ ljt/0f ul/Psf x'G5g\, j:t'sf] cg'dflgt sl7gfO{ :t/df xf]Og . 

lj1fg tyf k|ljlw ljifosf] xsdf ;xL pQ/sf] ¿kdf Pp6f tTjnfO{ ! c8\s lbOG5 . 

 dfls{ª l:sdsf] lgdf{0f k/LIf0fsf nflu k|Zg lgdf{0f;Fu} tof/ u/]/ k"j{–k/LIf0f tyf ;+zf]wg u/]kl5 dfq 

clGtd ¿k lbOG5 . 
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